46- Loca waveswith inthe harbor make ................. difficult, if not possible.

1) sailing 2)anchoring 3)berthing 4)anchorage

47- Therateof ............... of pavemcentsis u function of the traffic using the roud.

1) corrosion 2) dctcrioration 3) wear and tcar 4) displaccments

48- Theincreasein carboll content of steel .................

1) reducesits ductility 2) reduces its strength

3) increases its density 4) increases its weldability

49-By ............... the plate-girder web, its resistance to buckling will be increased.
1) stiffening 2) widening 3) hardening 4)stiffenering

50- In finite element formulation, the displacements of two elements at their juncture line
must.

1) identical 2) equivalent 3) comparable 4) compatible

51- A material issaid to be ductileif it can undergo large ............. deformations before
fracture.

1) residual 2) temporary 3) permanent 4)dynamical

52- For concrete without .............. air, the duration of protection against freezing should
be twice as long for maximum durability.

1) enclosed 2) entranced 3) entrained 4) entertained

53- The soil for foundations can be altered to conform to desired characteristics by
............ , consolidation and or its replacement with select material.

1) mixtures 2) compaction 3) vibration 4)saturation
54- ... systems are generally subject to time-dependent constraints.
1) Stable 2) Unstable 3) Unreliable 4) nonconservative

55- The theory of wave motion in elastic solids receives a very important application in

1) sounding 2) seismology 3) morphology 4) marine experiments
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